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T3 0FE A ERBKERNERRE-ER

9% | s L | i | Do |Bon|con| ss | K8 | e e | emn |2 || SR e
ik a2 zx | VY ep A A
e | = s.0 | 9.2 [<o.5 | 0.5 [ <1 |2 3E04| 0.45 | 0.020|< 0.001 [< 0.01 ] 0.018]<0.01| -
= m sowey [ aml 7.7 | 12 | o6 | 1o <1 [7.0802) 0.95 Jo.013)<0.001f<0.01]o.011]co01] -
I e ] 2o | i L oe | 08 <1 | 1oroa] 0.35 [o.017]c 0,001 < 0.01 | 0.015]< 0.01] -
B | e | mm| s.o1 | 9.6 |<o.5 [<o.5 | <1 |1 1E04| 0.56 | 0.032 (< 0.001 [<0.01]0.031] 0.01| -
W | — s | xm| 7.9 | 11 |<o.5 | 0.8 | <1 [1.7603] 0.39 0.023] 0.001] 0.01]0.023|<0.01| -
—/#  #] 8.0 | 10 [<o.5 | 0.7 [ <1 |6.4603] 0.48 |0.028] 0.001| 0.01]0.027] 0.01| -
sE) | mm| 7.7 | 9.0 [<o.5 | 0.7 | 1 |23E04| 0.61 |0.046] 0.001[<0.01]0.041(<0.01| -
R | wmem || 7.6 | 11 |<o.s5 | 0.7 [ <1 [1.3803] 0.45 | 0.034] 0.002[<0.01]0.032]<0.01] -
| 7.7 | 10 [<o.5 | 0.7 | 1 |1.2804] 0.53 |0.040] 0.002[<0.01]0.037]<0.01| -
o)l | = 7.8 | 9.3 [<o.5 | 0.9 | 1 |17E04] 0.99 |0.032| 0.001| 0.01]0.028]<0.01]| -
RIE | szpns | < | 7.5 | 11 |<o.5 | 1o | 1 [1.7803] 0.66 | 0.029 |< 0.001 < 0.01 ] 0.025 |<0.01] -
) 7.7 | 10 [<o.s | o | 1 |9.4k03] 0.83 |0.031] 0.001] 0.01]0.027[<0.01| -
. W) | E# | 8.0 | 86 [<0.5 | 0.5 | <1 [4.9E03] 0.17 [0.020|< 0.001[<0.01]0.018<0.01] -
g | omts [ xm| 7.8 | 11 | 0.6 | 0.9 | <1 [2.3802] 0.18 | 0.016[< 0.001 |< 0.01 ] 0.013]|<0.01]| -
o #) 7.9 | 9.8 | 0.6 | 0.7 [ <1 [2.6803] 0.18 |0.018]< 0.001 [<0.01]0.016]<0.01| -
o | B | =mm | s3 | 9.2 [<o5 | 1o | <1 |7.9803| 0.42 |0.009|<0.001| 0.010.005|<0.01| 4.4
%%% BIWARE | 2| 7.6 | 12 |<o0.5 | 1.2 | 1 [4.9802] 0.32 | 0.008]< 0.001 < 0.01 | 0.005]<0.01| 4.3
) 8.0 | 11 f<os | 1| 1 |4.2803] 0.37 | 0.009[< 0.001| 0.01]0.005][<0.01] 4.4
B I L mm| 8.7 | 8.6 |<o.5 | 1.1 | 2 [2.3804] 0.46 | 0.029 < 0.001 |< 0.010.026]|<0.01]| 5.1
%ﬁ gmow | zm| 7.7 | 11 J<os | 12| 1 [4.6E02] 0.31 |0.011]<0.001[<0.010.008]|<0.01| 4.7
O 1wl 8o | os [cos | 12| 2 [12r04] 0.39 [0.020]<0.001]<0 010 017[c001] 49
B SHO g | 7.7 | 10 |<o.5 | 1.6 | <1 |1.3804] 0.66 |0.054| 0.001| 0.020.044 < 0.01| 6.4
iniéq P | 49| 7.5 | 11 [<o.5 | 1.3 | <1 |1.3E03] 0.37 [0.064]<0.001] 0.010.059<0.01] 5.6
| 7.6 | 11 |<o.5 | 1.5 [ <1 |7.2803] 0.52 |0.059| 0.001| 0.02]0.052]<o0.01] 6.0
N B | | 8.0 | 89 [<o.5 | 1.2 | <1 |7.9803] 0.61 |0.027[<0.001| 0.01]0.017[<0.01] 5.8
;% Fors | 4| 7.8 | 11 [<o.5 | 1.9 [ <1 [7.0802] 0.44 | 0.016[< 0.001|< 0.01]0.013]<0.01] 5.4
 #] 7.9 | 10 [<o.5 | 1.6 [ <1 |4.3803] 0.53 |0.022[<0.001| 0.01]0.015[<0.01] 5.6
B MEFI | g | 8.2 | 8.7 [<0.5 | 1.1 [ <1 |[3.3604] 0.39 | 0.026(< 0.001| 0.01]0.022]<0.01| 4.0
gﬁ%% cpmy 28] 78 | 1 J<o5 | 13 | <1 f7.0R02] 0.18 [0.016]<0.001|<0.01 | 0.013[<0.01| 4.1
 #] 8.0 | 9.9 [<o.5 [ 12 [ <1 |1.7804] 0.29 | 0.021]<0.001] 0.01]0.018[<0.01] 4.1
BN mg/L

(p HEONKAGHE B S 2 BR< . KIGEEFEEIEMPN/100mL)
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(3) ¥FEZLI (BOD)

(BAZ @ mg/L)
M| s | e | 2560 | 260 | 2TARIE | 286 | 296 | B0FHE | mUEE ki
eIl | ®#i|<o.5 [<0.5 [<0.5 [<0.5 [<0.5 [<0.5 A AA
ErMi | wmxr | 2| <os <05 |<o5 |<o0.5 |<0.5 0
<05 [<o0.5 [<0.5 |<o0.5 |<o0.5 0.6
B - | wE N | =mm <05 |<o0.5 |<o0.5 [<0.5 |<0.5 [<o0.5
S| — s | & [<o0.5 <05 <05 [<o.5 0.6 [<0.5 - -
— <05 [<0.5 |<0.5 |<0.5 0.6 |<o0.5
IR | B8 <0.5 |<0.5 [<0.5 [<0.5 [<0.5 |<0.5
AR | sEs | 4| <o0.5 |<0.5 |<o05 |<05 |<05 |<o0.5 - -
<05 [<o0.5 [<0.5 |<o0.5 [<0.5 |<0.5
EEPI | EH 0.6 [<0.5 [<0.5 [<0.5 [<0.5 [<0.5 | AA [ AA
j(ﬁ e YL S 45 A
s | 4m <05 |<o5 |<o05 |<o0.5 0.6 <05 |1yl
| 0.6 <05 |<0.5 |<0.5 0.6 |<o0.5
i JERE) | B 0.6 |<0.5 |<0.5 |<0.5 |<0.5 |<0.5 AA AA
< 7 X
e | miE | &1 <o5 |<o05 |<0.5 |<0.5 |<0.5 0.6 |1yl
¥l 0.6 [<o0.5 [<0.5 |<o0.5 [|<o0.5 0.6
cop | B LEm | o5 [<os [<o5 [<o5 [<0.5 [<0.5 A A
BT | AkiE | &
it < |<0.5 <05 |<o0.5 |[<o0.5 0.9 <05 | 5pyr| oy
| 0.5 [<0.5 |<0.5 |<0.5 0.7 |<o.5
-, ) L mm <05 [<o0.5 |<o5 |<o.5 [<0.5 [<o0.5 A A
/ql\
D Pas A
1 2%% < <05 |<0.5 |<0.5 |<0.5 [<0.5 [<0.5 |5yl gy
<05 [<o0.5 [<0.5 |<o0.5 [<0.5 |<0.5
B SHUN [ mm| 0.5 [<0.5 [<0.5 [<0.5 [<0.5 [<o0.5 A A
mjp POESAE | s | <o.5 [<0.5 |<0.5 |<o.5 0.7 |<o0.5
= S . . . . ) . o LT 2T
| 0.5 |<o5 [<o.5 |<o.5 0.6 |<o0.5
AR mm <05 [<o.5 [<o.5 [<o.5 [<o0.5 [<o.5
HAE | e _ _
e B | am|<o5 |<o0.5 [<o05 |<o0.5 |<o05 [<o.5
<05 [<o0.5 [<0.5 |<0.5 [<0.5 |<0.5
-, MHEF | s | <05 |<0.5 |[<0.5 [<0.5 |<0.5 |<0.5
A -
amp | PRI 440 <0.5 [<0.5 |<0.5 [<o0.5 | 0.7 [<o0.5 - -
|l <o.5 |<o5 [<o.5 |<o.5 0.6 |<o0.5
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